WCS

o WCS cP
o WCS TDN
( ka/ /)i
WCS WCS

4 1.5 3.0 2.0 2.5
5 2.5 3.5 3.5 3.0
6 3.5 4.0 4.5 3.5
7 4.5 4.5 5.5 4.0
8 5.5 5.0 6.5 4.5

13%
WCS TDN51% CP6%

o  WCS (CP)
O
(10kg)
( ka/ 7/ ) ( kg/ / )
WCS
WCS
(kg) 4 5 10 13
s )
400 | 1.5 | 1.0| 2.0 10.0 4 5 2 3 |10 13
450 | 1.5 1.0 1.3| 10.0 3 4 210
500 | 1.5 | 1.0| 1.6| 10.0
500kg CP12% TDN60%
400 | 1.6 | 1.5| 3.0] 10.0 CP16% TON78%
450 | 1.5 | 1.3| 3.0| 10.0 o
500 1 1.8 | 1.5/ 3.0 10.0 [ ] 4 5 1.5 7 10
400 | 1.0 | 1.0 1.1] 10.0 2 3
4 4 7 1
450 | 1.5 1.0/ 0.0| 10.0 > 3 !
500 | 1.5 | 1.5| 0.0| 10.0 4 5 7 10

CP17% TDN77%

CP7.5% TDN63%

500kg
CP16% TDN78%

CP8% TDN50%




